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DEPARTMENT OF MATHEMATICS 2021 — 2022 & porimert of
Work Sheet — Class Xl s
SETS -2
1 [IfA={1,2,4,6,7,8:B=425,7,9 10}and C={4,5, 9, 10}. Find
(1) AUB 2 BUC (3) AuC
4 ANB 5) BN C (6) AUBUC
(7) ANBNC (8) (ANB)U(CNA)

2 | IfFA={2,4,6,7,8 12}: B={2,7,9, 10} and C = {5, 9, 10, 12}. Find

1) A-B 2) B-C (3) A-C
4) B-A (5) C—A (6) (AUB)-C
(7) A— {BN Q) (8) (ANB)—(CNA)

3 [IfU={1,23,4,56,78,9 10, 11,12} A={2 7,9, 10} B ={5, 9, 10, 12} and
C={1,4,5,7, 11} Find

1) A’ ) B’ 3) A’-C
4) (B— Ay (5) B’ N C’ (6) (A UB)’
(7) A’ N B’

4 | Let A and B be two sets such that n( A) = 20, n(A U B) =42, n(A N B) =4. Find
(1) n(B) (2) n(B-A) (3) n(A-B)

5 | Ina committee, 50 people speak French, 20 speak Spanish and 10 speak both Spanish and
French. How many speaks at least one of these two languages?

6 | Inagroup of 65 people, 40 like cricket, 10 like both cricket and tennis, how many like tennis
only and not cricket? How many like tennis?

7 | Inaschool, all pupils play either Hockey or Football or both. 400 play Football, 150 play
Hockey, and 130 play both the games. Find

(i) The number of pupils who play Football only,

(i1) The number of pupils who play Hockey only,

(iii) The total number of pupils in the school.

8 | There are certain number of students in a school. Of them 130 students passed in subject A, 113
students passed in subject B and 117 students passed in subject C. But 60 of the students passed
exactly two of the subjects where as 20 students passed all the three. Further 70 students failed in
all subjects. Find the total number of students in the school.
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INDIAN SCHOOL AL WADI AL KABIR
DEPARTMENT OF MATHEMATICS 2021 - 2022
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SETS -2 (Answer Key)

1 L. AUB={L24506789,10}
2. BUC={24,5709 10}
3. AUC={l,2456867 8,09, 10}
4. ANB={7)
5. BNC={509,10)
6. AUBUC={l2 456,78, 09,10}
7. ANBNC=0
8. (ANB)U(CNA)=1{2 7} u{4}=1{24 7
2 | 1. A-B={4,6,8 12}
2. B-C={2,7}
3. A-C={2,4,67,8}
4. B-A={9,10}
5. C—A={5,9,10}
6. (AUB)—-C={2,46,7 8,9, 10,12} - {5,9, 10, 12} = {2, 4,6, 7, 8}
7. A—(BNC)={2,4,6,7.8, 12} —{9,10} = {2, 4,6, 7, 8, 12}
8. (ANB)—(CNA)={27 —{12}={2, 7}
3 | 1 A={1,3,4,5.6,8, 11,12}
2 B =1{1,2,3,4,6 7,8, 11}
3. A’-C={1,3,45,68 11,12} - {2,3,6,8,9, 10, 12} = {1, 4, 5, 11}
4. (B-A)y=1512=1{1,2,3,4,6,7,8,9,10, 11}
5. B NC =1{1,2,3,4,6,7,8, 11} —{2,3,6,8,9,10, 12} = {2, 3, 6, 8}
6. (AUB) =1{2,5,7,9,10,12}° = {1,3,4,6,8, 11}
7. ANB ={1,3,4,56,8 11,12} N {1,2,3,4,6,7.8, 11} = {1,3,4,6,8, 11}
4 | 1. n(AUB)=n(A) +n(B) - n(A N B)
= 42 =20 +n(B)— 4 = n(B) = 26
2. n(B—A)=n(B)-n(ANB)=26—4=22
3. n(A—B)=n(A)—n(ANB)=20—4=16.
5 |n(FUS)=n(F)+n(S)_n(F NS)=50+ 20— 10 = 60.
6 |n(M=35 & n(TUC)=n(T)—n(TNC)=35_10=25
7 [()270 (ii) 20 (iif) 420
8 | 330
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